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(Write your Roll No. on the top immediately on receipi of this question paper.)
Attempt all questions.

1. You are Anand/Manisha. Write a diary entry about
your. biggest fear which does not allow you to sleep.
And, when you sleep it gives you nightmares.

Or
Write a diary. entry about your experience when you

got an opportunity to act in a play with the famous
actor Anupam Kher.

. 10
~ S
2. Write a paragraph on any one ol the following topics
in about 200 words:
(a) My most memorable day in college

(b) The advantages and disadvantages of watching
movies

(c) *The uses of internet
(d) Health problems in India. 10

3. Read the following passage carefully:

- The Great Wall of China is said to be one structure
built on earth by man, which could be visible from the

P.T. O.
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moon. It covers a distance of 1500 miles. From p,
Liaotung Peninsula westward to the last fortress i,
Central Asia, it crosses the northern province of

China.

In the eastérn section its height varies from 15 to 3
feet, and its width from about 25 feet at the bottom tg
15 feet at the top, where there is a pathway wide
enough for six horsemen to ride side by side protected
by parapets. When the wall was first built, it had about
25000 towers, each 40 feet square and 40 feet high,

~ projecting from it every few hundred yards, with holes
from which the defenders could shoot at attackers.
There were also many watch-towers on the enemy
side, outside the wall on hilltops or passes. These and
the towers of the wall were used for signalling with
smoke or flags by day and with fire by night.

The great Emperor Shih Huang Li joined these earlier
frontier walls to form a great wall to act as boundary
between China and the north and to keep out the
feared nomads of the Mongolian steppes. The wall was
designed to strengthen the nation’s defenses. Later it

became, in Ming times, a substitute for a strong army
and state.

Construction was started in about 221 B.C. and the
structure was practically completed when Shih Huang
Li died in 210 B.C. The man who did most in carrying
f)ut the emperor’s plans was General Meng Ledn, who,
in 221 B.C,, led an expedition against the Tartars and
drove them back from the Yellow River into the
Steppes, and set his men to work on building the wall.
They were later joined by thousands of convicts. Year

In and year out, In icy winds and sSnowstorms in winter,

and in duststorms in summer, the work went on and $O
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- many men died. The wall, therefore, was sometimes

called the Longest Cemetery in the world. The core of
the wall is earth and stone, faced with bricks and set in
a stone foundation. In hilly places the design was
altered; two parallel ditches were dug out of the rake,
25 feet apart and great blocks of stone were laid in the
benches to a height of several feet. Along each side of
these stones, baked bricks about 2 feet long were laid
at right angles to the face of the wall, joined together

. with a white mortal so hard that no nail could be

driven into it.

Emperor Wu Ti (140-86 B.C.) resumed work on the
wall and extended it to its greatest length. The

‘Emperors of the Ming Dynasty (A.D. 1386-1644)

carried out work on the wall, repairing its whole length
and establishing a new wall west of the Yellow River.
The Wing Dynasty, which now exists, dates from the
Ming. But many of the foundations are nearly 2000
years old. (506 words)
(2) On the basis of your reading of the above passage
make notes on it, using headings and
sub-headings. Use recognizable abbreviations
wherever necessary (minimum of 4). Supply an
appropriate title to it. 10

(b) Make a summary of the above passage in about
90-100 words. . 5

. Send your CV/Resume to M/s Aircon Corporation

Ltd. for the post of Business Analyst. Mention your
work experience along with your qualifications. Send

~ the CV/Resume with a proper covering letter.

Or
P.T. O.
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Send your CV/Resume 10O M/s A.B. Corporatiop | ¢
for the post of Content Writer. Mention your v,
experience along with your qualifications. Send ¢,

CV/Resume with a proper covering letter. 5410

(a) Write a letter to your friend telling her/him abgy-

the wedding of your sister and that she/he has (g

attend the marriage positively.
Or

Write a letter to your father asking him to send
you money for the forthcoming semester and also
to send some extra money as you intend to join -
coaching classes for IAS. , 7

(b) Write a letter to the Editor of a leading'

newspaper telling her/him about the open sewer
line near your college. Also mention that it is the
breeding ground for mosquitoes which can cause
many diseases. |

Or

Write a letter to the Principal of your college

telling her/him about the unhygienic conditions of

the college canteen. Also mention about the

quality of food being served there. 8.

. Write a book review about a recent book you hav
read. Do not forget to mention the title and the author -

of the book. _
Or
Write a film review about a recent film/movie you hav

seen. Do not forget to mention the cast and the
director of the film. i

780
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. (a) “Business is an open system.” Comment, Dise .

interaction between the business system and ji. 3

ment.

T U R e ¥ o e
YOI 3T Wr.% tramm z’z‘» e e o)
ESIE

-(b)nExplafin ;the concépt of 'sé{'viée. Do yoﬁ'-agré;:: 1

| 1mportance of scmce scctor m Indlan cconomy i

rlsc" Gwc g6 'ns ior your answer

@37. Wa%mr@raﬂﬁmmamgq
W%%WQWHWWQ;.
mamm%?mmzﬁmw;

(a) What is meant by c‘ntrcpren‘eurship‘? What are the

(b) 'Explam the conccpt and apphcahon&‘. of' c—commcn

“~

oppon:urums docs lt offex to busmcqs orgamqn\m ons

gromh?
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i "2 (a) Explam the features of stmteglc planmng Wh}’lS]t important
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i ‘(a) What 1S monvatlon? Cnncally examine Herzberg 5

5401

(a) (‘ntwnllycxammc tlm comcfpt nf manag,cm‘l gnd

(b) What is ﬁnﬂncml mampcmcmop,squitg o cope. i

'-'(a) Why do people resmt clmnge m a.n orgamsmon" Su 28

(b) Whut do you mean bv connollmg > What s the wlatzom

\:rm“m ﬁ“’ Cﬁf WHT CﬁT Wﬂ'ﬂmcrm m f' J

/

ﬁrﬂq WETET FMT 'ﬁ'cﬂ w “*'Tﬁfl fﬁ’(ﬁ'ﬁf ’J,‘?

Or (am)

I‘actor Fheoxy of Motwatmn | ;
aﬁir{ww@ma?zﬁaﬁ%amﬁ,@—
afireT frgr @ srarers St dif
(b) Explain the meaning and importance of Human Resou
Ma nagement gl

[alaS

Hrrrawu?wra‘wnf wmqgazman@m,

measures to ox’ercomc rcs:stancu, to chanwe

Wﬁ“qﬁa‘a‘«rﬂaﬁﬂﬁmwmg?
uﬁmﬁﬁa—wsﬁqm gana‘m

between planning and co_ntrol? ,
Pty 4 emq aur wwd E7 TS SR A
ey o e B |
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(q) W hatis mcantby org um,anoml conflict? bug,gcstn-icasuras

through which Lonﬂncts can be 1u;01vcd
TﬁFSHTTEB'Eﬁ;'@'Bﬂq auT=Hﬂ*ﬁ§ b7 Bal i T

"(b) Define marketmg rmx Explam thc-.\}fa;'ilﬁii'_sf;ic‘.cpfs' affecting
it. : |
- fre - a%"r uﬁmm aﬁnz\ -s:a“ﬁr iR @
fafdr a?taﬂ'#% E:ﬂgn aﬁﬁi@\ |

~J

; VWritc hotes ort any three of the followmg
(1) TcaSJblhly Stud;

(i) Busmess Process Outqourcmg

()L Amited. anblhty Pmm_ﬁSMp

(iv) Informal Orqarnsatlon

(V) Pnncnplﬁ,s of Delegation..

Fﬁ:ﬁ%ﬁtﬁii#:& ﬁsaﬁ'ér{tu:f%ﬂﬂﬁﬁu'ﬁaﬁﬁq
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This question paper contains 5 printed puges.
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S1. No. of Ques. Paper: 5403 , i
Unique Paper Code & 227181
Name of Paper ¢ Principles of Microeconomics

Name of Course ¢ B.Com. (Prog)
Semester ¢

Duration : 3 hours
Maximum Marks : 78

(Write your Roll No. on the lop immediately

on receipt of this question paper.)
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 NoTg:— Answers may be written either in English or in
Hindi; but the same medmm should be used
throughout the paper.

fruutt— 39 FYTUF & Jo7 Sl AT fe<t fEar @&
wrr § e AT gyt I & AH TF E

Attempt aﬁy five questions.
| All questions carry equal marks.

. farl o et & 3w N
gt g & oF GHA 8 |

. (a) ‘Distinguish between movement along the demand
curve and shift in the demand curve.

PEO
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2. ( f})

i

W EE N fggmE v gf
SIS | fi
If poor weather destroys a part
crop, what is the effect on cquif

quantity of agriculture outpu in
change? |

afe mia if wF&rf‘r el grar q?
GO % UEH AT R qp m@
H‘g‘v‘rr R il ‘r{ﬁsr ST i 3
AT ifﬁr ?

Thc prlcc of rice falls [rom Rs. ¢ ) |
kg This leads 10 an increase in its |

kg 'to 20 kg in a month Ca]cf
;o elashcﬂy of demand '

alat-"f ® Fwa 50 mv?r 3 s
'fﬁﬁmﬁﬁwwﬁqmnmﬁ#

qﬁa“ra?{zofa*ﬂmavgrra>

= e A e HIFTT |

Explam Mlmmum Supporl Price k

[ i 'jquences

i T T s s o

3 fa)

Explz-u'n the equilibrium of the cons

- help of indifference. curve and bud@)
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4. (a)

(b)

3 5403

mraﬁvﬁkaﬁzi@aﬂmﬁﬂ%-

& dqod $ Rl ‘ .10
Can two indi.ffe'r'en-ce‘ curves ever.. intersect?

Explain with diagram..

wamwmm@@mmm
%73:.11@%‘31?!%@1 A 5

Show the relation between the average cost curve
and marginal cost curve with suitable diagrams.

3T o= o R SfWa AT 9% ud " |

aa:.é?'aﬂaﬁafaa?risﬁsm 5.

A firm’s fotal cost schedule is given in the
foliovnng table. Derive lotal fixed cost, average

' _ ‘ﬁxed cosl -average ‘variable cost, total variable

cost, average total cost and marginal cost from the
tablc given below

OQuiput (In Units-] Totad Cost (Tn Rs.)
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Uw W @ g -drd Syl e aifear o
w1 A g wles A Fa R aom, sitoa
fer arm, ol REdwyiie @, g
| WRedTie W, § e @ o @i o
AT HC ’ 10
I (3 H) e I (To W)
' 0 . e 40
120
170
180
210
260
340
440
550

00 N O g W N

S. Distinguish between returns toa factoriz_md returns to
. o-scale ' :

B T e
ST @ e o
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g 5413
(b) Explain the causcs of emergence of monopoly,

UHIUET ] Seufar & shoorf o s #tfa

(% }

7. (a) Explain the Jong run cquilibrium of the firm under
monopolistic competition,

CHltER g & simfa o ¥ A
GEIEH EF\T anleq | ' 10
(b) Explain perfect price discrimination.

ot i faddteao @ aammEy

T

8. Writé short notes on any two of the following:
(2) Kinked Demand Curve
(b) Economic Rent
(¢) Opportunity Cost
(d) Derived Demand.
FrtREa A § et & vt oo wfn
(a) fasGfam ai o
(b) Sl g
(c) E® AT
(d) =ga=1 wi | y

tn
~J
LV

Scanned with CamScanner



This question paper contains 16 printed pages.

Your Roll No. .................
Sl. No. of Q:tes. Paper : 7851 HC
Unique Paper Code : 52411101
Name of Paper : Financial Accounting
Name of Course : B.Com. (P)
Semester 4 |
Duration : 3 hours

(Part A : 2 hours 30 Minutes;
Part B : 30 Minutes)

Maximum Marks : 75

(Part A : 55 Marks;
Part B : 20 Marks)

(Write your Roll No. on the top immediately
on receipt of this question paper.)

NotE :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout

‘the paper.

Raoft : g7 go7-97 &7 Fav s I R=T f&dT T YT
T @frd: dfeT aHt gad &1 A Ua & &
q1eyq |

This question paper has two parts. Part 4 is compulsory for all
the students. Part B is meant only for those students
who have not offered Computerized Accounts.

Show all workings clearly as part of the answer.

Use of simple calculator is allowed.
P.T.O.
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1. What are the differences between cash basis and accrual by

7851

of accounting?

Effr & Ao omuR ol 9UEd SMYUR " I I

g7

The following is the Trial Balance of Mr. Parveen Trader as;

31st March, 2017:

31 wid 2017 & M g ¢ @ FrfwiEa R

&

Particular

Drawing and Capital
Stock 1stApril, 2016
Purchases and Sales
Returns

Deﬁfors and Creditors

Discount

Bank Loan @ 14% p.a.

Carriage Inward

Rent and Taxes
Salaries and Wages
Printing and Stationery
Interest on Bank Loan
Travelling Expeﬁscs

Postage & Telephone

Dr. Balances

ACr: Balan,
Rs. Rs.
1,90000 656X
4,68,000
32,17,000 38,96,
86,000 | 58,0
2,40,000 1,48,0¢
18,000 4
X 2,00,0(
1,96,000
93,000
40,000
87,000
11,000
8.700
20,000
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Insurance 64,000

General Expense 1,27,500
Furniture 50,000
Cash Balance : 3,800
Bank Balance 80,000
| 50,00,000 50,00,000
Adjustments:

(i) Closing stock on 31st March, 2017 was Rs. 7,86,000.

(i) CreditPurchases Rs. 4.000 has not been entered in the
books. | ‘

(i) Printing and stationery amounting tb Rs. 36,000 is to be

carried forward. _
(iv) Interest on bank loan shall be provided for whole year.

(v)  Personal purchase of proprietor amounting to Rs. 6,000
_has been recorded in purchase day book.

(vi) Depreciate furniture by 10 % p.a.

(vii) Provision for Bad and Doubtful Debts is to be created
'@ 5% on Debtors.

(viii) Mr. Ashok Hooda included in sundry debtors for Rs.
30,000 due from him and he is also included m sundry
creditors for Rs. 10,000 due to him.

- QETEIN:
@) 31 W, 2017 @ 9 AT 7,86,000 T |
() @ W GhT 4,000 o @l H T o H T
| gl '
e | 3 P.T.O.
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(i) 36,000 To W BUTG AN oG AR &M Sie 5
ferdl BIST T8 ® 1

(iv) %wwwqﬁaﬁ%%ﬁ'g%mmm‘
e ‘

V) Wﬁﬁ%@ﬂ?ﬁOOOEoTﬂﬂ% @ﬁ?rr&ﬁ
v w& A o B ]

) TR W e 10% W 2 | ]

(vii) mﬁws%aﬁﬂﬁ@gwaﬂiﬁﬁw*ﬂn
& [ grEae |

(viii) oY TSR BT ' 30,000 Eovﬁaqa?réaré’r & foi
fafaer 3ert # suftrer e T &7 10,000 Fo S T

¥ &, vas R AR FRt ¥ i e

Prepare Trading, Profit & Loss A/c for the year ending 31st :

March, 2017 and a Balance Sheet as on that date.

quTe a9 31 4, 2017 & ol T AR, GﬂwaﬁTaﬁ

@R T S A H Th god 99 AR S | ¢

Or (3rean)
From the following Income and Expenditure A/c of Medict

]

Club for the year ended.31st March, 2017, prepare Receipt
and Payments A/c for the year ended 31st March, 2017 and:

Balance Sheet as on that date:

S FId &, T 99 31 AT, 2017 & R, Fre=faid
AT AR =T E@W ¥, gu a9 31 "N, 2017 @
Titqdl SR YA @i U Sa [ & uw ge ¢
TR T —

7851 4
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Income and Expenditure Account for the year ending

31st March, 2017

Expenditure Amount Income Amount
Salaries 14,800  Subscription 15,600
Stationery 320 Donation 11,600
Postage & Telephone 640 Billiard Room Collections 1,400
Rate and Taxes 1,200 Entrance Fees 2,400
Repairs 1,600 Interest from Investments 540
Table Tennis Balls 240
Printing of Magazines 400
Electricity Charges 1,200
Billiard Room Expenses 600
Upkeep of Ground 1,880
- Depreciation on Assets 400
| Excess of Income 6ver
Expenditure 8,260
31,540 31,540
- .Additional Information:
As on 1st As on 31st
April, 2016 (Rs.) March, 2017 (Rs.)
 Fixed assets 9,600 10400
- Investment 5400 9,400
Cash at Bank 360 ?
| - Subscription Outstanding 600 1,000
- -Subscription received in
. advance 1,200 2,000
831 P.T.O.
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Expenses Outstanding:

Stationery 220 18
Telephone 260 24,
Electricity 340 26/,

13

3. ABC Ltd. purchased a Machinery (Ml) on 1st January, 2014
for Rs. 6,00,000. On 1stJ uly, 2014 additional machinery (M2)
costing Rs. 1,90,000 was purchased and Rs 10,000 spent on its
installation. On 1st October, 2015 the machine (M1) purchase(

on 1st January, 2014, got damaged therefore it was auctioned

for Rs. 3,38,500 and on the same date new machinery (M3)
was purchased at a cost of Rs. 4,00,000. Company purchased

another new machinery (M4) for Rs. 3,00,000 on 1st April,
2016. During the financial year 2016 the management of ABC

Ltd has decided to change method of providing depreciation
from Written Down Value Method @ 10 per cent per annum
to Straight Line Method @ 15 per cent per annum. Company

closes its books every year on 31st December and it follows
Charging to the Assets Account Method of recording
depreciation in its books. You are required to prepare necessary
ledger accounts in the books of ABC Ltd. from 2014 to 2016
and show the effect of change in method retrospectively.
ABC fifi?s ¥ 1 oadl, 2014 @ 6,00,000 To H U7
i (M1) e | 1 5[, 2014 @ 1,90,000 To H T&
aifefiam il (M2) @OEr o SEel TmeEr W 10,000

7851 6
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o T | 1 SrE, 2015 Y wYfT (M1), S 1 o
20143%@%@&,3&@@,@&@3@3,38,500 Go
ﬁ:ﬁ‘maﬂﬁmwaﬂ?wﬁmﬁ@fﬁrwﬂé%ﬁﬂm)
4,00,000 To HI T W W W 1 e, 2016 F
B UH AR T 5 (M4) 3,00,000 Ho H LT | Frey
a&2016ﬁwc%ﬁ%g%maﬁ%am§—mmm%
T & 10% AT el fefed e faftr & 15% amemr
aﬁﬁtﬁ%@ﬁ@rﬁwﬁmmmlmﬁ,aa&,

TIE & ARRET 0 & R wefy @i & a5
ﬁfhmmm&r%meﬁrﬁ%%mﬁﬁwzomﬁ
2016 T % frdr Smavaes w8 @ Jar AR v adiaae

BT X ol # oRedw & wme @ qaa | 13

7851

Or (‘?'WEIT)
Receipts and issue of certain 'units of goods in ABC Ltd. for
the month of September 2017 are given below:' A'
RIS, 2017 & ABC Riftds @ w1 @ 5 samedi @
it o] el 9 Ry @ &
Date Particular
Ist September, 2017  Opening balance 350 units @ Rs. 30 each.
4th September, 2017  Purchase 115 units @ Rs. 35 each.
6th September, 2017 Issue 250 units
9th September, 2017  Issue 125 units

15th September, 2017 Purchase 575 units @ 20 each.
19th September, 2017 Issue 400 units

26th Séptember, 2017 Purchase 180 units @ 50 each,
29th September, 2017 Issue 65 units
7 P.T.O.
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You are required to find out the value of closing stock and Coy
of goods sold (COGS) for the month of September 2017, b

using perpetual system of recording of inventory and followini
methods of valuation of inventory;

(a) FIFO Method

(b) Weighted Average Price Method.

= @ R & gag Yoel Od QT & Jedie 3
Frefefae et ® TART &Rd §Y A=) 2017 1% 3
R FaIe Wik & 5T TF 99 T A @l B B
BT — S

(a) FIFO fafer |

(b) Wk rEa gea faferi I

4. On 15th September, 2017, Mr. Suraj Prakash of Dharamsala
Himachal Pradesh sent 5000 units of glass frame o
consi gnment‘to Mr. Sham Sharma of Ludhiana, Punjab at cos
price of Rs. 300 per glass frame. He spent Rs. 5,000 for freigh
and Rs 10,000 for packing, etc. Mr. Sham Sharma took th
delivery of 4,910 units of glass frames because 90 units o
glass frames were destroyed in accident in transit. Mr. Shan
Sharma spent Rs. 15,000 on clearing charges and Rs. 5,000 or
unloading. He paid godown rent Rs. 7,500 and selling expens
Rs. 3,500. He sold 4,500 units at Rs. 475 per unit. He wa
entitled to a commission @ 10 per cent of sale. You are require
to make necessary ledger accounts in Mr Suraj Parkash book

and Mr Sham Sharma books,

7851 8 .
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1 AR, 2017 B epfeman, fRamaw w29 @ S g IH
T qitEr, U % o q gmt @ T BE @ 5000
SHIEAT BT, 300 To Uiq T WH P X W, AT Holl |
I8 5,000 To ST 3R 10,000 To YfhT A =7 fordr | &N
ST ST 4,910 w1l @ f3feradt «ff raifes 90 e wA
TR | gefear § e & 7 &1 4 g smf 7 15,000 %o
HERMEA b 3R 5,000 Fo a1 W =g {6 | =
e AT 7,500 Fo AR feEmt @d 8,500 o f&d |
I8l 4,500 SHIEAL, 475 To Uiy THE $I U T, 99 & |
TE {9l & 10% FHI9E & §BaR T | 3T AT G TR
Td ot g g & Gl ¥ ayEd oeR fede daR
EAE A | ' 13
Or (31a)
On 1st January, 2017, Agrim Theater owner Mr. Ajay Verma
and his friend Mr. Kapil Sharma cr;ter into a joint venture to
produce a film for the Himachal Pradesh Government’s project
on road safety awareness. Himachal Pradesh Government
.agrce to pay Rs5,00,000 on completion. Mr. Ajay Verma
contributes Rs. 2,30,000 and Mr. Kapil Sharma Rs. 2,20,000.
These amounts are deposited into Joint Bank Account.

Payments made out of joint bank accounts were:

1 SEd, 2017 B AW QY WER & W T
SRREHAT AREF W U6 fhed s & {09, elﬁmfilﬁa_
& off oo aaf wd I aRa & W Ml us WgE
JIH § YA R & | e U BN W e Yesr SR

7851 9 P.T.O.
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5,00,000 To & @I Hepll 3 ¥ o I gt 2,30,000 %,
St st e gm 2,20,000 Fo F AMEE & &1 78 Ty
e 3 @ A T A € Tl & | WG % A
fFY T =T 3@ UEN T

Purchase of camera Rs. 90,00
Hire of lighting and recording equipinent Rs. 75,000
Wages to theater artists Rs. 1,50,000

Rs. 65,000

Office expense :
Mr. Ajay Verma paid Rs 15,000 for the licensing fee and M,

Kapil Sharma paid Rs 12,000 for evaluation expense to expett.
On the corﬁpletion of project on 1st September, 2017, Himachal
Pradesh Government paid Rs. 4,85,000 instead of Rs. 5,00,000
 because there is a little defect in the film. Mr. Kapil Sharma
agrees to take over the camera for Rs. 49,000. You are required
to make necessary ledger accounts with 'scparaté set of books
 for Joint Venture Method. Profit & loss sharing raﬁo between
| Mr. Ajay Venna and Mr. Kapil Sharma is 3:2.
= ST Al | WEHE Y 15,000 To R o =t e
gt 3 RS A qeaieT @q 12,000 vo R 11 R
2017 Ht AT T B I A WS WER T 5,00,000
w0 & O 4,85,000 Bo R Fifs Rewy § siyer A o1
Al BT IF 7 49,000 Fo F BT W7 Wy i | o
AgHT Sem faftr & gl & ot AT F srawe e @l
A | 13

'78-5] 10
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5. Reliance Itd has a head office in Mumbai. Following is the
information regarding its Nagpur Branch. It supplies goods to
its Nagpur Branch at 25% profit on cost price. Accounts are
kept at head office from where all expenses (except petty
expenses) are paid. Such petty expenses are paid by the branch
which are allowed to maintain petty cash balance of Rs. 2,500
on imprest system.

Radg fafies &1 7<% § & g1 FEad &1 Sadh
AR TRET & GRieed TEer A § T ¥ 98 ST
ARG 9@ Y AR I W 25% JATh W A ol & |
@ T Bt § W@ R ¥ ot @ R ad 6 ¥ e
@S BIgH | MET TRE YOl T 2,500 To &I Bl WhA

@ gadl & s & 8RR @ R 9 g
Balances as on Ist January, 2016: | Rs.
Building 95,000
Petty cash at branch 2,500
Debtors 18,700
Stock in hand at branch at sale price - 42,000
Furniture and fixtures at branch 37,500
Transactions for the year during 2016 were as follows:
Bad debts to be written off 1,350
Goods sent to branch (at invoice price) 2,15,000
Goods returned by branch to head office 5,000
Cash sales at branch 1,95,000
7851 ' 11 P.T.O.
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65,000

Credit sales at branch

Discount to debtors 1,200
Cash received from customers 55,000
Goods transfer to Delhi Branch (at invoice price) 22,000
Normal loss of goods 3,000
Goods-in-transit 15,000
Payment made by head office during 2015
Rent for one year 2,400
Salaries 2,500
Insurance paid for the year - 1,800
‘Paymen'ts made by the branch during 2016
I-’etty.expenses | 1,200
Balances on 31st Decembef, 201 6
| 40,000

- Stock at cost price (to H.O.)
~ Provide depreéiation on furniture at 20% p.a. and 10% p.a. on

- building.
_ qs:ﬁa“{qwo%sﬂ%faﬁfqamw 10% i e ST
© US|

You are required to ascertain Profit or Loss at Nagpul

. Branch in the books of Reliance Ltd. by using Stock and Debtor

Method.
Reraa ﬁiﬁég%@ﬁﬁ,wam%maﬁigﬁfﬁ
g ok ol R ¥ war wmsd | 1

7851 12

)|
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Or (mar)
(a) Explain any [wo of following concepts:
(i)  Materiality concept
(i) Consistency concept
(iii) Conservation concept
(iv) Timeliness concept

(v) Industry practice concept

ﬁqﬁrﬁgaff%wﬁmﬂraﬁaﬁfaﬁwmﬁ:

(iv) GETEGAT bl SEER
(v) SENT TR &l STErem 4%2=8
(b) "To avoid confusion and to achieve uniformity, accounting

process 18 appliéd within the conceptual framework of

| Generally Accepted Accounting Principles (GAAP)."
| Comment on it.

‘ oty T 9 R o A S B fod,
| oear GAAP & SR @ & GrEfT W B I & 17
froofy e | 5

| ParT B

6. A,Band C are partners sharing profit in the ratio of 5:3:2.

« They decided to dissolve the firm on 31st March, 2016 and
their balance sheet as on that date is given below:

#7851 13 P.T.O.
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A, B3R C qrEER & ot 5:3:2 & ogurd H T dfed ¥);
31 W, 2016 T FH BN HT B A 99 B € AR
kg & oTe Yow dfe @ e E-

Balance Sheet as on 31st March, 2016

Liabilities Amount  Assets Amouy,

Partner Capital a/c; Bank 70,000

- Partner A 4,00,000 Debtors 50,00(

- Partner B 3,00,000 Stock 1,60,00(

- Partner C 3,00,000 Furniture 1,25,000

Partner Current a/c: ~ Patents 1,35,00(

- Partner A 40,000 Machineries 2,00,00(

- Partner B 10,000 Building - 5,20,000
Profitand Lossa/c 1,50,000 Partner Current a/c

Trade Creditors 70,000 -Partner C 10,00

12,70,000 12,70,000

- Following transactions took place at the time of dissolution:
(2) Realization expenses were to be fully borne by partner A
for which he is to get a credit of Rs. 10,000. Actual
 realization expense paid out of firm’s bank a/c amounted

'toRs.12,000.

(b) Btook over stocl; for Rs. 55,000 and C took over building
for Rs. 9,00,000.

(c) Other Assets are realized as Debtors Rs. 48,000; Furniture
Rs. 1,17,000 and Machmerles Rs. 1,80,000.

(d) Patents didn’t realize anything and trade creditors were
settled in full by paying them Rs. 65,000.
- 7851 14
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W B D W Prefufa R g

(a) ST = qof w0 & wwfiaw A qea Fem frad; ey o0
10,000 o & ®ise faerm | wif & & @ F ¥ o
T I WA =9 12,000 Bo |

(b) B 55,000 Go & ©f & Rrar 3w C 3 9,00,000 Fo
H wau o fowmy ,

(c) =T WHIRMET § : Foft 48,000 Bo; W= 1,17,000 Fo
3R Wt 1,80,000 Bo | |

(d)mﬁﬁmﬁgﬂamm%%ﬁﬁ
65,000 To T UT JebaT fehaT 74T |

Prepare Realization A/c, Partner’s Capital and Current A/c

and Bank A/c.

i =g @, 99eR & a?r{ I, WaT a9 9§

@Ml TR B | | 20

' Or (/) =~
(2) The Balance Sheet of A, B and C who shéred profit and
: ioss in the ratio of 2:2:1, was as follows és on3lst March,

2016, the date of dissolution:“ '
9T A @ faf¥, 31 9 2016 W A, B 3R C, e
a9 SR B AWIET 2 : 2 1 AT, & e U R

qr1:
Balance Sheet as on 31st March, 2016
Liabilities Amount  Assels Amount
Sundry Creditors 2,20,000 Cash 50,000
B/P . 60,000 Stock 60,000
BankLoan . Building 175,000
., 7851 15 T
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(with a charge on stock) 1,50,000 Machinery 1,45,00q

Partners Capital a/c 500,000 Fumiture 3,00,009
- Partner A 3,00,000 Partner Capital a/c

- Partner B 2,00,000 - Partner C 200,000

9,30,000 9,30,000

Assets realized as explained below:

Ffaal & wita e

Stock 52,000
Machinery 1,20,000
Building 81,000
Fumiture . 50,000

Expenses on realization amounted to Rs.10,000. Assuming
that all partners are insolvent, prepare the necessary ledger

accounts to close the books of the firm.

' mﬁmm,oooao mlugwﬁgﬁﬁﬁa‘%ﬁwﬁw

TR TR 4R B | 15

- (b) Explain the rule of Garner v/s Murray.
TR &7 g & | & qeemeg ) ;
7851 e - 16 §200
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This question paper contains 8 printed pages]

Roll No.

S. No. of Question Paper : 7852

Unique Paper Code © 52411102 B le -
Name of the Paper -t Business Organization and
‘ Management
= N‘amé of the Course | : B.Com.
Semester ' K |
Duration : 3 Hours Maximum Marks : 75

(Write your Roll No. on the top inimediately on receipt of this question paper.)

Note :—  Answers may be written either in English or in Hindi;
but the same medium- should be used throughout the
~ paper. | | )
feoqoft . 39 YeE-TF w1 ISW SN AT fe<d foRdt TR s
0 f s A Tt W A e T ' B
'-All queStions are compulsory.
All questions carry equal marks.
- mt we eifEd €
it gl @ o WM €

: | YT [
BT e e 4 gt A e P Lt he o . 074 l g
IO AR R A SR g Fora 18 PSS ' v ] ; N BN WA
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(a)
®)

(F)

(%)

(%)

(2) : 7850

- Discuss briefly the role of Multinational Corporation j,

our country. Why do some people criticize their role ¢

What is virtual organization ? What are its advantages

and disadvantages ?

TR W H wgused e T iR st dag 3
ﬁéﬂﬁmuwm%%@mw
ST TS B ¥ 2 voe e ol

Y afrlgql-

(3teram)

What are the features of franchising ? Briefly explain the

| popularity of franchising in India.

(1 . y :
Every manager is a Human Resource Manager.”

Comment. .
PR o it ¥ 2w # e
F W W W WA F sren Wi
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{3.) 7852
(@) " EYEH [EE e gEaE w1 froh

_aﬁfml

2 (@)  Explain the advantages of outsourcing and name any five

services that could be outsourced gainfully.

(b) What do you mean by e-commerce ? What are its

benefits ?
(%) AR & S 3 s Ffo v
it de @ T e R v w9 e

a9y fF s gewar § 2
(@) -afra § o = wHed € 2 gEh oA

£ 20

Or
- (3t

(@)  The promotion of a new business enterprise is in many

-ways, like the birth of a c‘h'ild. Discuss the major

;0nsiderations ‘in starting a new business enterprise.

P 1T.0.
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(4) 785

(b)  What do you understand by planned change ? How cq

we overcome resistance to change ?

(%) T% T 3TH 1 9atH &2 0w ¥ & aom
% = S B ¥ 2 T A Teq F 7
A qed giakedl w1 fadE wife)

(@) ors TREHE Y o T T § 2 e
% Y @l 3T HH WG T GHd § 2

(a) Explgin-the process of managerial planning. What are its

benefits ?

- . (b) Define: strategy and “explain the process of strategy

formulation.
(F) Feu RIS 1 9fRa1 e i
AW ¥ 2
(&) TRt <kt afeon < sik Torif g i

Tl AT HifSU |
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(a)

(0)

_".A(Eﬁ)

(@)

(b)

{5 %) 7852

Or
(3Teran)
“Leadership is situational.” Comment.

Explain theory Z of motivation.

qqaﬁaﬁiwm%’l"%tmﬁaﬁml

aﬁqﬁma% z Togm =1 = ﬁﬁml

Explain the modern concept of marketing. What is
meant by marketing mix of a firm ? How will you

determine the marketing mix of a firm manufacturing

- consumer goods ?

Write short notes on any two of' the following :

'(i) McGregor’s- theory ‘X’ and theory ‘Y’

(i) Project organization Fs. Matrix organisation

(iif)  Causes of conflict

(v) Bounded Rationality.
P.T.O.
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(0) 78%)

() foraom F S FRCT A iy

'(é)l_

(b)

wd & faoom fag w1 oFN @Y ¥ 7 S
gegell w1 Fal &1 ol wH E fae fyy
w1 frefor omT B A 2

(@) frefafon d @ fre & W wfw feorfor
() HRIR fag@ x 3ﬂ'{ fagid <y
(i) qﬁ?ﬂwrw STRISH 3t ﬁﬁﬁ-\q = Sﬂ?ﬁm

iy FE & RO

(iv) UREg qHIER|
. | 7 Or
(3tern)

What is the purpose of feasibility study o-f project ? What

~aspects should be considered in such a study ?

What is meant by capital structure ? What factors should

be kept in mind while determining the capital structure

of the company 9
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(7) 7852

() RS & G S1FId 1 SRyd I § 7

W et H R ueqell W femm faen S
fgw ?

~

(@) Yft-w=m & oMy @ wHe € 2 w9 @y gof
e 1 TR A HA 3Tkt foh FHehi i

YH W WA ey ?
5 (@) | What er’e services 2 Dis'cu'ssjthe reasons for the growth

-of the service sector in India.

(b) Explain _the features of ‘Make in India Programme’. What

gains are expected out of this programme ? -

() T w AR E 7 omw § A aamﬁqr:;a%
-mﬁﬁéwﬁml
.(?Ei) fixsa—séw—@ﬁ%;zn'7¥ﬂtﬁinq' # faeroast w =wen
?ﬁ?ﬁ3n1|"é¥1'zﬁTﬁkﬁt{ ¥ w1 @ fen ® smm
Y,

P.T.O.
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(8) , 785)

Or
(srerm)

(@) Define business ethics and explain their significance,

(b) “It is in the interest of business to fulfill its social

responsibilities towards different interest groups.” Explain

this statement.

(%) STErERTd e #t airsT < i D TR

H o HifTu

(@) “FEEE ® fau e am%aﬁiaa fafu= feaee

2

B R R e e i

F" T FUT F A RGN

8 87m

-
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This question paper contains 4 printed pages.]

Your Roll No

ir. No. of Question Paper : 2386 HC
mique Paper Code : 52031318

jame of the Paper . English Language

jame of the Course : B.Com. (P) CBCS

i;e,mester III

éuration : 3 Hours Maximum Marks @ 75

mstructions for Candidates

Write your Roll No. on the top immediately on receipt of

this question paper.

Attempt all questions.

o ——
-2

e President of the Sports

[ (a) You are Amit/Anita. You ar
“ b has decided to organize

Club of your college. The clu

a sports meet in the college campus. You are to put up

ollege notice- board in this regard. Draft

a notice on the ¢
ate of

ce. Include the necessary details, such as d
cipation fee,

(10)

the noti
the meet, games, eligibility conditions, parti

etc.

OR
P.T.O.
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2386 2

(b) You are the President of the commerce so;
‘Vanijya’, of your college. A meeting of the socig
scheduled on 15 December 2016 to discuss cg
matters. Draft a notice to put up on the notice-bog
order to inform the members. Include the time and v
of the meeting, matters to be discussed, and a fo

request to attend the meeting.

2. Write a feature article on one of the following topic
300 words : (

(a) Surgical strike against the terrorists was a right decis;

(b) Chinese products have affected the Indian manufactur
sector.

(c) A visit to a place of historical significance.

(a) You are the owner of an Electronics Plaza. A custor
visits your shop to purchase an LED television. Writ
dialogue between yourself and the customer in minim!
eight sentences from each. (Il

|
OR |

(b) Write a dialogue in a minimum of eight sentences 68‘-

between the receptionist of a Hotel and the custoﬂ

who wants to book a room in the Hote],

f

i
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1386 3

1. (a) You are a correspondent of a newspaper. You have
been assigned the responsibility to interview a politician,
f1 Imagining yourself to be both, the correspondent and the

1 politician, write the interview. (10)
OR

(b) You appeared for an Interview for the position of the
Marketing Executive in a multinational company. Write
\ the interview, mentioning the questions asked by the

| interviewers along with your answers.

. (a) You have been working with an agency which deals in
surveys. You have been assigned the responsibility to
know people’s views on the demonetization of 500 and
1000 rupee currency notes. You need a questionnaire
for the purpose. Prepare the questionnaire with minimum

ten questions with multiple options of answers. (10)
~+ OR

(b) You are a surveyor. You are to gather public opinion on
‘Make in India’ campaign. Prepare the questionnaire for
the survey, having minimum ten questions with multiple

options of answers.

5. (a) Write a speech, in about 200 words, to be delivered on
~ ‘The Rising Trend of Online Shopping’. (10)

P.T.O.
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2386 4
OR [

(b) Write an essay, in about 200 words, op

Environmental Pollution in Delhi’.

7. (a) You have been working as a managér in a company’
Managing Director of the company has asked ¥
prepare a report on the problem of workers’ absente:
Draft the report with the reasons and recommendat’

"OR

(b) You are the Secretary of the Students Union of j
college. You have been receiving frequent complain:
the college canteen. You talked to the Principal.
asked you to investiga{:e the problems. Draft the re

with findings and recommendations to resolve
problems.

(30
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et
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- SL No. of Ques. Paper . 5404 39 H
. Unique Paper Cole.  : 241385

Name of Paper : Business Statistics (Part B)
:! ,Nm;xe of Course ¢ B.Com. (Programme)
Semester - IIX
Duration | .t 2 hours

Maximum Marks | + 50

. All questions are compulsory.

*. 1. (a) Give two examples where Harmomc Mean will be most
smtab]e average. - | '
W@ Qe A ﬁ*ﬁﬁ EEE AT aaﬁ quaa
B me 2

“(b) Calculate standard deviation of first ten natural numbers.

\- qqqmmrguﬁﬁ%wﬁﬂmmqﬁmq
(@R ‘ w2

- (c) Findthe coefﬁcieht of V;ariation, ifthe sum of squares of the

- deﬁatiom 6f 10 items taken from their mean 50is 250.

faf=mar s T @i af 10 Tge & S
mwso@rﬁaaa‘r%alﬁaﬁrﬁfrzso%l 2
,(d) Given, r =—0-6. If one regression coefﬁclent is —0-8, find

L ‘the otherrcgresswn coefﬁclcnt
f ﬁmw%ﬁﬁr -0-6. uﬁwwwmﬁog
%a‘rgﬂ%wmgvmsa?rmﬂaﬁﬁmu 9

T . Turn over
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2. (a) Whatdo youmean by Index numbers? Discuss the Varioyg

problems faced in the construction of Index numbers,

Wﬁ%mwm%?mﬁaﬁmm

FRT | R

(b) The coefficient of variation of wages of male workers ang

female workers are 55% and 70% respectively while the
standard deviations are Rs. 22.0 and Rs. 15.4 respectively,
Calculate the overall average wages of all workers given

that 80% of workers are males.

qow il o AR wERE @ A 8

RIfRFTT TOTE AN 55% AR 70% & &R AW
R A 22.0 o 3R 15.4 o & | W Frfaid
o quw Sirad wergRal IR R STafeh qqmr
T ¥ 5 80% wHATY oW & | 9
Or (GWEH) TR

The equatibns of two lines of regression are:

8X —10Y +66=0 and 40X —18Y =214
The variance of X is 9. Find:
(i) The mean values of X and Y,
(ii) Coefficient of correlation between X and Y

.(iil) Standard deviation of Y

wma?ra’r%@aﬁ%wﬂww&%
8X — 10Y +66=0 3T 40X - 18Y =214

xmmg%laﬁﬁﬁq

() XSIRYS Hrem W
) ,X-a?lt..Y% 49 qghey UIh

(i) Y %7 A forere | 7.0 14

8
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(a) Explain the concept and advantages of movmg average -

method of obtaining secular trend.

RElEEDey yafd Wi & @ aw ofve fafer @
WHT SR il @ e Hivn | 5
(b) Find the values of missing frequencies for the following
incomplete distribution by usiﬁg appropriate formula when

| the value of mode is 36:

Variable " Frequency
0-10 i 5
1020 70
2030 . 9

3040 2
4050 S0
5060 6

| Total - 50

ﬁwﬁrﬁaﬁwméﬁm T
mgﬁalq%m‘r%maﬁaﬁﬁmmﬂgaﬁr

i R
1‘ 0-'10< - 5 ..
£ 2030 5 o 9
3040 e 7
s 4_0.50 10
5060 B BRI 6
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()r. (amm)

Fit a straight line trend to the following data by least square

method:
Year 2000 2002 2004 2006 2008 2089
Exports 13 18 15 20 24 it

(Crores Rs.)

Also estimate the Exports for the year 2015.

& 2000 2002 2004 2006 2008 2089
faiw 13 18 15 20 24 22

(S ®) |
aé201sa‘§1%fqﬁufazﬁr%ﬁa§m=rmi 14

4.(a) What do you mean by mean dewatlon‘? Why is standard

deviation better than mean deviation?
wﬁam%mwwa%??wm‘s%&
T fraed & AE RrEe SeaK BT &7

(b) The total of the multiplications of deviations of X and

n

Y =3044. No. of pairs of the observations is 10. The total

of deviations of X = —170. The total of deviations of
Y = -20. Total of the squares of deviations of X = 8288.
Total of the squares of deviations of Y = 2264. Find the
coefficient of correlation when the assumed means of X
and Y are 82 and 68 respectively.

04~ - 10
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X SRY 3 Rt @ ot o T = 3044 ¥ 1 i B
WEAT 10 ¥« X & et forerT = —170 | Y& Fa fererer
= =201 X & faert @& it a7 Wig = 82881 YD
fraemt & @t @& g = 2264 | WEGIY ONH S
| aﬁﬁt{mﬁsxaﬁwa‘;mww sza?rtes |
, L or(emm)
: (a) A man travelled by car for 3 days. He qbv:ered 240 kms
eachday. He drove first dair 10 hrs @ 24 kmph then second
~ day 12 hrs @ 20 kmph, and then third day 15 hrs@ 16
- 'kmph. What was his average Speed per hour? !
qmemmﬁsrﬁqfﬁamni?mﬁrmﬁn%lGaﬁgﬁﬁﬁ
240 Torft 9 g0 7 Y| e R TE 10 W A 24
ﬁ?ﬁ’ruﬁra%aﬁﬁﬁa%’r iﬂi‘ﬁ?mﬂ% 20ﬁa"ﬁgﬁf |
2 P ¥ o R A R 15 92, 14 Rl ofy
,‘ ta%a%at@rzrﬁraﬁlwa%g%maﬁwmw--
R | - 5
(b) Construct the_ consumer_pri'ce index number ‘using family

budget method from the following data:

Items Quantzty ~ Price .- Price
A (Base year) (Base year) (Current year)
A 900 b LT 12,
‘B gspEe T30 T 38
O syl T 4 5.0
ipe T il 20 1300
CE T s0MaE T 10 15.0
3404 e Turn over
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e st &, R e R i e,
STV TA-gEdih @ Ta I |

104

wge e @@ A
(o ) (mEm Td) (3 )

A 20 1 1.2

B " 50 B 3.5

C 50 4 , 5.0

D 20 20 30.0
E t.50 10 150 9
1z | 200
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Roll No.

5. No. of Question Paper : 7853

Unique Paper Code | 52414303 Hc
Name of the Paper : Company Law
Name of the Course . B.Com.

Semester Lo

: Durat.ion:3H0urs" _ R o Maximum Marks : 75

(Write your Roll \0 on the Iop immediately on receipt of this qzxestzon paper-.)

_(mmmmﬁaﬁémmmﬁsﬁﬁawwmmﬁﬁms)

Note :— Answers may be written either in English or in Hindi:

but the same medium should be used throughout the
| ~.. ‘paper. |
 femquit —mewwaﬁvﬁmfﬁ%www
| fmﬂﬁq ﬁﬁﬂﬂﬂﬁeﬂﬁwmwwﬁm
T—-rrﬁ::qn 5
Attempt All the quesnons

All- questions carry equal marks.
B e
off weEl @ o §EH €
P.T.O.
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7853
(@ “A Company in law is a different person altogether from

its members.” Comment. 5
(h)  Distinguish between private and public company, 5

(¢)  What is the legal position of a promoter of g
company ? 5

(%) “Rfy @ SIER HTAl, o wEE ¥ gl
= aqﬁa B ®1" fooft wifsm

(@) Feft oik W T ¥ smw wEemE)

(M wT & s B fafuw feft s e

L g

- Or
(312ra)
(@) What is an iliegzﬂ association ? State its consequences..S
(2] “Conclusiveness of a certificate of incorporation cannot

be disputed on any ground whatsoever.” Comment. 5

©

X on the instructions of the promoters of a proposed
~ company prepared the me_mopandum and articles of

association and got the Company registered. X claims

his costs from the company. The company refuses to

pay. Will X succeed ?
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N

( 3 ) 7853
() 1@ een o Bt ¥ 7 g wRomm oA
¥ 7 |
(@) 7 ® o w fwmrea @ R o
R W foafia 7@ frn 1w ¥ 2 fomwi
() R FT B g B e WX
fem oit W g w0 R x wE
_ﬁmw'ﬁmm%.maﬁa
wOR A B wm x wEa @ whm 2
@ Dis}:uss the doctrine of ultra vires. What are the effects
| ‘of:ultra Vires transactions ? | | : 5
®) Write"a note, on’ buyback of shares. Ss
(9 Distinguish - between, transfer and transmission of
' | s'ec;.;rities. | - 5
() sfvmrd # fawm w fEen st
- ﬁm@ﬂéﬂﬁvaﬁuww@ﬁ%?

P.TO.
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(@)

(M)

(a)

®)

©

| bt

(&)

()

(4 ) . 7853
YR HI ATE @ﬁ?{ R feot fafem
gl & S SR "W H e e

| Or |
(1)

Whﬁt is memorandum- of association ? Explain the law
relating to alteration of object clause. 5
Explain the rpmediés 'available-against the company to
an allottee- who has béught shares -on the basis oé
misleading prospectus. o . 5
List the: purposes for which securities*premium account

may -be used as per the Companies Act. 7 5

Wﬁwwmﬁ?ﬁm‘mﬁ

ﬁmmﬁﬁﬁm?ﬁmww
W%Imﬁﬁm
Wmﬂaﬁ&ﬂ*ﬂmﬁﬁmm@
%Wmmﬁﬁﬁ%@m
A fm W owew ¥ 2
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(.95 ) 7853

d

(@ Can the Central Government appoint a director in a
public company 2 Explain. 5

(5)  Define the term Company Secretary. What are the
Afunctions and duties of CS 2 -5

| (¢©)  Write a note on different types of board committecs. 3

(F) T BT WER GESE e
- R = owwdt & 2 s =it

(@) YA Vet w8 & gitamwn Afen w9 S

 ® ®E R Hder wm B O§ 2
() @ F St F R e w e fafan
' - Or |

(3reram)

\

(@) Explain the concept of key managerial personnel

J
L7

int'rod-ucc;.d by Compénigs Act, 2013.
(b) _Stdte ‘the prO\/.isibns relating to the-removal of a
direc'tor. 3
"(c) . Stale the qualiﬁcatidns' %;Ild disqualifications of director
: an.d lll(_? maxinmmmm;ber of dil-'ccmrships an individual

“can hold ? 5

P.1.0.
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( 6 ) ' 7853

() woAr SAffTaH 2013 & B WEIAEd UqE

(@)

(M)

(a)

(b)

(o)

(%)

v H freRfEd w A HAET T

F1 IeA@ BT |
frvr # drEdel SR S AT

offd ® A wEA T 7

Wh'at is Annual Genera] Meeting ? What is its
importance—' ? Ijoes the tribunal have the power to call
an AGM ? . | | | 5

State the provisions regarding proxy. 5

n

Write short notes on :

() E-voting

(if) Poll.

aﬁ%’wwaﬁw@?ﬁ%7mnﬁ

R Y 7 T AEUEI § aifer R S50

g wm W T 7
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€7 7853

(@) e VTR T B g Fiferm

() -sfe

(i) HAQT |
Or
(1)
What is -a- statutory meelting ‘? State fhe important
: .provisions for hb]ding a statutory meeting ? 5
St_afe tl,;e' pfqvisions regardiﬁg quorum. 5
~ What type of résglutioh s ‘req_uire'd to transact the

~ following business : | i o | | 5

() ‘App'oinfment of additional director

(i) - Appointment of auditor

(ifi) Amal’gaﬁ]atio‘n‘wjth another company

(.';v)' Chan\gihg_lregistered office of a company from one
| state to. 'janother‘ state

(v) Declara;ion of dividend.

P.T.O.
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( 8 ) 7853

() G dew N Ad T 7 HIfeE o

T |

(@) FrE F TEw A G M AT WO

I |

'-,(n)ﬁw%f@ﬁgﬂmﬁmﬁﬁmﬁqmm

(a)

@mﬁmwwé?ﬁ

o ﬁaﬁﬁww_ﬁﬁgﬁa

Gy e whem W PR
(fii)-iéﬁ ®UA H WA FHHEH

(v) HTET B IS chl?i'ic(iq F TE T A
TR TE § a€aT

(v) TR HT SO0

What amounts are required to be transferred to Investor

Education and Protection Fund according to the

provisions of the Companies Act, 2013 ? )

A
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«C 9 H ~ 7853

e 7 . “ s g '
(0  What do vou mean by forfeiture of shares ? Explain

the requirements of. a valid forfeiture of shares by a

company. s a | | 5
(c) | Write. a note on Annual ‘Rclurn. 5
(F) s AfufEm 2013 F o #‘: AT
PR W o ik wRem ffe d feem o
: IR HTN SMavas ol % ? |
i(@)ﬁﬂﬁﬁwmﬁmwwﬁ 3 2
| T Qﬂl'@ﬂﬂ'aﬁ ﬁﬂhﬂﬁq'aaﬁ REL
aﬁ&neﬂ‘r Ei| a:rrcm aﬂﬁm |
‘(W) EMﬁﬁ?'ﬁEﬁ BEd ﬁ?ﬂvﬁ ﬁﬂ%ﬂu
Or
(o)
(a) '.W:Ii_o -'can .. be_r" an auditbr"‘? [l)iS_ClllSlS thé-poWers of an
' auditof_ under 't_he Compapies'Act,"ZOl& -3
() What lS ﬂyinding up of a ';:lonu.)any ? Distingl;ish between
'wiﬁding up 'and_dissolutioii of a éompany. | 5

(¢©  Write a note on National Company Law Tribunal

(NCLT). . . . 3

. P.T.O.
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T s (., 19) 7853

(%) S THER W 8 CGEA § 2 FTH sy |
2013 & STria i@ WieE H A B foeey
R S— T W 2w F w
) o faﬁﬁ AR (NCLT) T foor

et »
y LR e R 10 8 ’j
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This question paper contains 16 printed pages.

Vaur Roll No. ..oeeeiiiiiaennn
SI. No. of Ques. Paper : T854 HC
Unique Paper Code : 52414304
Name of Paper : Income Tax Law and Practice
Name of Course : B.Com.
Semester : 111
Duration : 2¥2 hours
Maximum Marks - 55.

(Write your Roll No. on the top immediately
on receipt of this question paper.)

Note :~ Answers may be written cither in English or in Hindi;

but the same medium should be used throughout the

paper.

Ryt : 3@ Q97-97 @7 ¥ S O B Bat um ywr
7 dfd; dfeT oot ood a1 qremw o & e
qIfeT |

All questions are compulsory.

Wt go7 sifrarf &

L. (a) Mr. A, a British national, comes to India for the first
time during 2012-13. During the financial years 2012-
13; 2013-14; 2014-15; 2015-16 and 2016-17 he is in

P.T.0.
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India for 55 days, 60 days, 80 days, 160 days and 7,

days respectively. Determine his residential status for
the ﬁssess‘ment year 2017-18. |
fro A, S b fafesr Amiia &, 99 91T R 2012413
3 oy | 3 faei @ 2012-13; 2013-14; 2014-15; 2015-15 |
SR 2016-17 & e o P FW g 55 &, 60 fo, |
80 f 160 R @ 70 R A | TN AARE

Rafir 2017-18 & fw @ @@L 5

(b) Anurag earns the following income during the financial

7854

year 2016-17:
1. Interest paid by an Indian company
but received in London 20,000

2. Pensiorn from former employer in

India, received in USA 8,000
3. Profit earned from business in Paris

which is controlled in India, half of the

profits being received in India 40,000 |
4. Income from aériculture in Bhutan and

remitted to India 10,000 |
5. Income from property in England

and received there ‘ 8,000

6. Past foreign untaxed income brought to
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Compute his income for the assessment year 2017-18
if he is:

l. Resident & Ordinarily Resident in India

2. Not Ordinarily Resident in India

3. Non-Resident. |
it &t 2016-17 & SR St X Pr=iffae o Fars:
L. 9T & g e R e

St §eT B o or 20,000
2. XA H O Pl & S UsA #
ard | - 8,000

3. WRE F TaEE ¥ g S B AR
frafsa a1 ara & o emeft om0 40,000

4. IH ¥ HTT T St fF WRa F W= 10,000

5. §vs § gir F o9 o) a8 W W 8,000

6. AT P N F T T YR & AE T 20,000

mﬁaﬁwwzow—m%ﬁmma&maﬁﬁqaﬁ

. I8

1. WRA & fFErt X qErer e &

2. WRT F SRAERT Fawdt &

3. WA & AErT 21 _ 6
.. (@) Who is a senior citizen under Income Tax Act, 19612

What are the rates of tax applicable to his/her income

for the financial year 2016-17? |
e B P.T.O.
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ST T SR, 1961 & ST aftes Al @ 3,

Ry af 2016-17 & QA Ikl ST T IIGHT & o

T B? 5

(b) Discuss whether the following items of income

constitute Agricultural Income for the purpose of

Income Tax Act:

(i) Profit from sale of standing crop or the produce
after harvest by a tenant of Aland

(ii) Income from sale of wild grass of spontaneous
growth.

(iii) Interest on capital received by a partner from the
firm engaged in agricultural operations

(iv) Income from poultry farming .

(v) Income from growing flowers and creepers

(vi)Ir_lconie from dairy farming, butter and cheese |
making. "

fererer @i foh sy s & s et o

BT A T AT R |

(i) T ¥ & fhUUER R SO & 915 Sqrg 3rdl
WAl GEd & fash & A

(ii) ST 4T, S T ST S TS &, B fapy § T

(iii) BT g & o w & uw wrger @ o

9 &
7854 4 5200
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(V)T & oy
V) G 3R T A ey R g ..
(ST G, e ok Moy & oy

2. Mr. Xretired from the services of M/s Y Ltd. on 31.01.2017,
after completing service of 30 years and one month. He
had joined the company on 1.1.1984 at the age of 30 years
and received the following on his retirement:

1. Gratuity Rs. 6,00,000. He was covered under the

Payment of Gratuity Act, 1972. |

2. Leave encashment of Rs. 3,30,000 for 330 days leave
‘balance in his ‘account‘. He was credited 30 days leave
for each completed year of service.

3. The company also trahsf_erred a car to him which was
‘ purchased on 01.02.2014 by the company for Rs.
«"-5,00,000. Comf)any has recovered Rs. 2,00,000 from

him fo_r the car. Company depreciates the vehicles at
| thé rate of ,15% dn .Strziight Line Method.

4. An amount of Rs. 3,00,000 as commutation of pension

" for 2/3 of his pension commutation. |

5. Company presented him a gift voucher-worth’ Rs. 6,000

on his retirement. - ‘

Following are the other particulars:

6. He has drawn a basic salary of Rs. 20,000 and 50%

dearness allowance per month for the period from

01.04.2016 to 31.01.2017 |
1854 WS | P.T.O.
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7854

7 Received pension of Rs. 5,000 per month for the

period 01.02.2017 to 31.03.2017 after commutation

of pension.

Determine his taxable income and tax liability from the

above for Assessment Year 2017-18.

50 qf R us mE A Ho ¥ fto # T FH B A
$1-01-17 @Y X AaiFvger & AT | FE FEAT N 30 T 77
g | \-1-1984 FY TS FHAT AT T TR 7O
fy=fafes O T &

1. 98 Jegdl e A, 1972 & T Afa 47|

I 6,00,000 |
). T AT & Bo 3,30,000 T 330 faT T T

T3 @ § 9w f | Sad A4 @ AE TS W
frq Swar 30 giedl M 4

3. FEE ZN 0% SR SY sRidRd @ T A 5,00,000 F
01-02-2014 F WA 41| FF T SEY FW F
900,000 To Wil oY | T AR W 15% =
Arefy YT Tgld W AN w6 |

4. 2/3 TR @Y AR WX A THA 3,00,000

5, Tgat Garaghn W O G WE MY e 6,000

g fafafeear f i

6. THET STHICGT A 20,000 URME Sl 50% WETR

o fd WiE 1.4.2016 Q $1.01.2017 A& AT

6
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7. W D IR W 01-02-2017 & 31-03-9017 7
5,000 i W& U= 9IS o |

R A 2017-18 & R0 Iwat @iy o A w

g fuii@ @i o 0

Or (3r9an) |

Mr. Balaji, employed as Production Manager in Beta Ltd.,

furnishes you the following information for the year ended

31.03.2017:

. Basic salaryupto31.10.2016 Rs. 50,000 p.m. Basic salary
from01.11.2016 Rs. 60,000 p.m.

Note : Salary is due and paid on the last day of every month.
_ 2. Deamess allowance @ 40%l of basic salary. ‘

3. Bonus eéqual to one month salary paid in October 2016 on
basic salafy plus deamness éllowance applicable for that
month. _ |

4. Contribution of employer to recognized provident fund
account of the employeé @ 16% of basic salary.

5. Profession fax paid Rs. 3,000 6f which Rs. 2,000 was paid

* by the employer. | ' | -

6. Facility of laptop and computer was provided to Balaji for
both dfﬁvcial and personal use. Cost of laptop Rs. 45,000
and computer Rs.' 35,000 were acquired by the company

on 01.12.2016.
7. Motor car owned by the employer (cubic capacity of engine

1.60 litres) provided to the employee from

exceeds
P.T.O.

1854 : g 7.
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01.11.2016 meant for both official and personal use. Repair
and running expehsés of Rs. 45,000 from 01.11.2016 to
11.03.2017, were fully met by the employer. The motor
car was self driven by the employee.

3. Leave travel concession given to employee, his wife and
three children (one daughter aged 7 and twin sons aged
3). Cost of air tiékéts (economy class) reimbursed by the
employer Rs. 30,000 for adults and Rs. 45,000 for three
children. Balaji is eligible for a\failing exemption this year

 to the extent itis permissible in law. S
Compute taxable income of Mr. Balaji and his tax liability for

the assessment year 2017-18, assuming he contributes Rs.

~ 50,000 towards PPF. |
- Mo gremel, ST o ¥ WisHw yeu, Al e B
mﬁswwomaﬁrwaﬁ%ﬁﬁﬁmﬁrﬁaﬂw

Y H &

1.7 315 10-2016 T gF daT & 50, ooouﬁfmt'l 1.11.2016
amwaaweo,ooomlﬁmamrﬁ%wm
% et R far s ¥

2. TEME 9N SMURT IAT BT 40%
Q.WAQOIG.ﬁWW%?WWW%WW
TEME T h R T AE B A

7854 8
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4. mmmﬁ@?%ﬁ?mmﬂ%wmmm%
e o R
5. AT BT RA W 8,000 Rt & 2,000 Fripn 3
feam)
Gmsﬁaﬁmaﬁrwgﬁmmmﬁ
Frard SR PR S & R 1-19-2016 7 S
45,000 IR TR 35,000 ¥ HH ZR @l )
7. W FW S v & e o 3 (Rred 2o o
- TR ARRA 160 frew @ e ) wd @
©01-11-2016 ¥ FrEfES R R sude & forg & w2
© 01-11-2016 ¥ 31-03-2017 % TR AR AE =7
45ooo&a}ﬁmm%&ﬂﬁlfﬁamzﬁrw
& T B
8. ey, TEA ol o AT T B R v A
7, R A g e 3 A B ¥ g
ﬁamaﬁaﬁ%lma%wﬁaﬂ(amévﬁ)ﬁ
‘Wiﬁruﬁf{ﬁf W%%ﬁsooooaﬁiﬁaa‘r
' ’%i%_ﬂ?rgsooo ﬁﬁmmaﬁaﬁﬁ%lsﬂaﬂfwcﬁ
BEET K T g e @ A
W Fufer o 2017-18 @ Rrg A @ ww o sk
TR Y T AT, a5 A B B a8 PPEF 50,000
A W 11

\%S ) :
‘._t ' 9 P.T.O.
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3. Mrs. Laxmi Devi owns a house property at Mumbai. The |
municipal value of the property is Rs. 10,00,000, fair rep

is Rs. 900,000 and standard rent is Rs. 9,60,000. The
property was let out for Rs. 100,000 per month uptg
December 2016. Thereafter, the tenant vacated the property
and Mrs. Laxmi Devi used the house for self occupation,
Rent for November and December 2016 could not be
realized in spite of the ownér’s best efforts. All conditions

| prescribéd under R.ule 4 are satisfied. She paid municipal
taxes @ 12% during the yec;lr. She had paid interest of Rs.
45,000 duri’ﬁg the year for amount borrowed for repairs- of

the house property. Compute her income from house

property for the assessment year 2017-18.

St et 3 e ¥ oy Wy @ R E)
SHEHT TR T 10,00,000 ¥, SR fRmET 9,00,000
iR mﬂaﬁ?@a feRtram 9,60;000 | TRaRT fewwR 2016 T
1,00,000 Fo Ffemre W Serdt Tl | N ReTARR T
A @ret A fn, S Al qelt 3 A W W=
swd & Rl R TR ol REsR 2016 @ RRA

7854 : ' o
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mﬂaﬁrwﬁsﬁ\mgﬁnmqwﬁmmm a

(oo SR BT TN AN H e s e o

4 O T 45,000 JHT | bt A Freafror ank 2017-15 %

ol STERIT R A ST Al T whif .

Or (3feran)

(a) What are special provisions for unrealized rent received
and arrears of rent received not taxed earlier.
I foRTT A BN W SR e o
W e H R far wr & fodr e e w2
7 | 5

() Discués the tlaxltreatment, with the help of suitable -
examples, when a house property is owned by two or
rﬁore persons.

o o T, B W e e
T ¥, & & SER B A HIRE | ST
CgEer o A 6

. (a) Anand acquired a capital asset for an amount of Rs.
75,000 m June 2003. He converts it into stock-in-trade

" "in the month of November, 7015. The fair market value

~of the asset on the date of conversion is Rs. 6,75,000.

- The stock-in-trad'e was sold for an amount of Rs.

AT A y P.T.O.
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9,25,000 in the month of September, 2016. What wj)
be the tax treatment of above transactions?

Financial Year  Cost Inflation Index

2003-04 463
2015-16 1081
2016-17 1125

: sff'éoos F o _75,0_00 T qell Fa
a%_qgaﬁaq?r-mﬂﬁ"e‘fmﬁqﬁaﬁh
2015 # T ¥ | ok fAfyr W EE H IR

T 6,75,000 97| WIE T 8 91 TN 9,25,000
¥ fygat 2016 H | IWST Gie & AT &K

BIT? g |
2003-04 463
2015-16 © 1081
6

2016-17 - 1125

(b) What are proVisiéns regarding exemption of capital
gains on sale of résidential house under section 54?'

O 54 & R ST TR ¥ G T
@ wew ¥ g aeEn ;

7854 12
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Or (anqq])

What are the provisi
(a) Provisions regarding ,
C]uhblng of i
INncome

of minor child and Spouse of the assessee in his total
s 15 tota

income?

ST I A= Wl M A U Fr a1 7y gy o

T I A SN ¥ gElEd g g y
(b) What are special provisions for computing business

income on estimated basis under section 44AD?

ORT 44AD & e qaymive o & wv § ffre
T qd15d | 5
5. (a) Discuss the provisions of section 80E of the Income

Tax Act, 1961 relating to deduction for interest paid

on loan taken for pursuing higher education.

et aftET # ORr S0E @ orefw wew fRmen
I & @ o, ol & | R I g
U _amsi?n
(b) Arti (30 yeéfs) is a resident and ordinarily resident

1

assessee for the previous year 2016-17. She reports

A

following income for the year:

‘7354 _ 1 3 P.T.O.
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| (Rs.)

Salary 200,000
Business Income (=900,000)
Short-term capital gain 10,000
Long-term capital gain

on sale of non-listed shares | '11,00,000

She deposits Rs. 80,000 in Public Provident Fund
- Account during the year 2016-17. Determiné her tax

liability for the assessment year 2017-18.

o), g 30 ¥, g a¥.2016-17 % oY TH AR

TERT Far HEE 81 98 a8 & g e o & @

iea . . Go

A | 200,000
T ¥ . (-900,000)
FE-HAA O 10,000
et ot W |

HEE AT ~ 11,00,000

a9 2016-17 7 I fedh WIS % F 80,000 Fo STl
& | Ffer o 2017-18 % R Swa e @
TUET iR | 6

7854 14
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Or (st

(a) Discuss the provisions of section 80U of the Income
Tax Act, 1961 relating to deduction in case of 3 person
with disability.
AAH SAfHEw, 1961 H O 80U & wraem GRS
it 76 afe & o A e @ ww § ¥ s

(b) Kun_al’s (27 years) bank account shows the following
deposits during the financial yéar 2016-17. Compute
his total income and tax liability for the assessment
year 2017-18, assuming his income from house

property (computéd) is Rs. 1,20,000.

‘ Rs.
() Gift from brother in US.A 3,50,000
(ii) Gift from friend on his birthday 5,000
(iii) Dividend from shares of various
companies ’ 26,500
(iv) Gift from his fatﬁer’s friend on his
engage_ment. 21,000
(v) Gift from his would be in-laws 1,1 l,OOQ
(vi) Interest on Bank Fixed Deposits 50,000
(vii)Interest on ‘Savings Bank Deposit 15,000
15 P.T.O.
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W(macf)a;réfmqmmﬁﬂaﬁfzom-n%m
ﬁqﬁmﬂmﬁ@m%lﬁmﬂraﬂfzmmsam
m@mﬁtmaﬁmm%w
g 5 smawda gy F 1 (arorT @t gdT) 1,20,000

T

-
i) US.A.H 9§ § %e | 3,50,000
(if) T TR W EE ¥ e 5,000
(i) Rt FafEl & sl W T 26,500

(iv)amér R & AT ¥ TE W Tt ¥ 21,000
(v) S A AT TR A 9 e 1,11,000

(i) ¥ frre Rofeg W A 50,000
vi)gEd @@ W AW 15,000

| 6

T854 5k i 16 8200
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This question paper contains 10 printed pages.

Your Roll NO. oo

sl. No. of Ques. Paper : 5407 1§
Unique Paper Code  : 241592

Name of Paper : Financial Management
Name of Course + B.Com. (Prog)
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(5] F¥-99 & ferd @ S R} wd FNika
Wr:rwm_avamavmﬂ:)
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Hmdz, but the same medium should be used

throughout the paper.

UT— §9 WYTUF &1 IR sTaw AT (&<l ET R
g @ AT QfET g ITT F AT TF g

g TET

 Attempt all questions.
Use of simple calculator is @ llowed.

it weal & g AR
mm%ﬁﬁﬂ%wﬁéﬁmwﬁﬁ‘

P. T. O.
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1. (a) Compounding and discounting arc the techniques
that are used for adjusting ‘time value of money’.

Explain. _
gmgtar s wgr ‘w9 % gmfas A A
TR A wfafy § 1 GHese | 5

(b) Wealth Maximisation is superior to Profit Maximi-
sation as an objective of Financial Management.

Comment.
fodte y6ad & 3e¥9 & ®9 H 99 ATHRqHIRT,
AT A ¥ A= § | fewoit &ifs 10

| Or (7g=m)
(a) A company has Rs. 5,00,000 6% debentures

outstanding. Debentures will be redeemed after 5
years. How much annual equal amount should be
invested in a fund that pays interest at 10%
- p-a., so that required amount is available after 35
~ years?
TH U 9 5,00,000 Fo F 6% (eI
THAT ¢ | fEa=R & ofg 9 9’ T AW
HE, Sl 10% WA 4 H e @ %, W Fwat
i THse Ui Ay = W =y, afs o
9 d1e TUfEE AT I &) w2 ' 5
(b) ‘Traditional financial management was concerned

with raising of funds but not with its optimum
utilisation.” Do you agree? Comment.

fﬁmﬁ%ﬂaq&fmmaﬁwﬁﬁmmw&
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o - ER~e '3 (SUBVIRLITA S BV R A R R S
T RN U 1l Rl A i T B G A e i

3

A ST
Hif |

5407

T 3 wgHd § 7 Froph
10

2. A company is planning to purch
machines X and Y cach costing R
consideration. Both have life of
is provided on straight line me
after taxes from the machines ar

45¢ a machine. Two
8. 2,00,000 are under
S years. Depreciation
thod. Expected profit
e as follows:

@mlﬁwﬁw@ﬁaﬁaﬁﬁww@%‘l?ﬁ
q?ﬁﬁxaﬁtY,fﬁmﬁuaz,oo_,ooo Fo WA § W
f%lanfmmm‘%laﬁamwfmsaﬂ‘éi

W@ﬁi@‘mﬁ?wm%la{ﬁ%m
' wvﬁﬁﬁ'ﬁquaﬁm%

Year ‘Machine X (Rs.) Machine Y (Rs.)
1. 20,000 10,000
2 40,000 30,000
3 50,000 | 40,000

ALY 130,000 1 60,000

5 20,000 40,000

You are required to decide which machine should be
_ preferred using:

(a) Accounting Rate of Return

(b) Payback Period Method.

AR Fofg we §fF R T @ e @
| T st P.T. O.
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5407 ‘
(a) STGE LGS
(b) ¥ emafy far

| Or (3A¥c)

A new investment proposal is unde

Following are the details:—

& T FRW wwE  (EEREH 2 3@ faam
frrafafed & |

15

r consideration.

Capital Cost Rs. 4,00,000

Depreciation Straight Line Method
~Life | ~ 5 Years

Tax Rate . 50%

Cost of Capltal : 12%

Expected- Earnings Before Deprematlon and Taxes
(EBDT):

. Year 1 2 3 4 5

" EBDT(Rs) 200,0002,00,000 1,60,000 1,60,000 80,000

Would you accept the proposal on the basis of:

(a) Accounting Rate of Return
(b) Net Present Value?

ST B H SR W S T A S
(a) FART AGIHT
(b) S A e 2. . 15
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3. (a) Explain the traditional approach to the capital
- structure.

St WA & T gfedi w GHEEe | S
(b) A company has net operating income of Rs.
5,00,000. It has 10% debentures of Rs. 20 lakh.

Cost of equity is 15%. Calculate the average cost
of capital and value of the firm as per net income
approach of capital structure. If the company
raises additional debt of Rs. 10 lakhs at the rate of
10%, what happens to the value of the firm?

T& Ut W yg uREEd @ 5,00,000 ¥ T
IH 9T 20 9@ To F 10% fea= g1 et
T T 15% £ 1 gt TEm & YE A gl
¥ aan W W & st ek qew @ e av
a1 TuET ST | afe e 10% R W 10
STE Go I ARTH & I T, A WH F A
W T I T 7 10

Or (379l

“New 1ssue of capital is costlier than the retained
carnings.” Do you agree" Explain.

e mmm»ﬂ g afgs W@
él”amamw%le 3

nual sales of 10,000 units. Sale
it. Variable cost is 60% of sale
Rs. 1 lac. Company has 10%

- (a)

- (b) A company. has an
price is 50 per uni
price. Fixed cost is

P. T. O.

- — —— = = -
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5407

debentures of Rs. 4,00,000. Find out operating
lcverage and financial leverage. If company wants
to double its carnings per share, how much
percentage increase in sales is nceded?

T Fu st wrern fesnt 10,000 3HE 2
ofad-ia T fe el S 60% © | T AT
| W@ o 3| FEA F U 4,00,000 o F 10%
Fey=m ¥ SRR dels i fadta des
mumWﬁaﬁWﬁmaﬁm
ST TRt 8, A fsm & fRaw sfawe S FEr
F} TETIRAT R ? S 11

& 4. (a) Write a note on Gordon’s approach to relevance
of dividend decision. |

awie fotr @ TEfET | WET % gt ®
w feoft fafeq : 5

~ (b) ABC Ltd. is currently having 1,00,000 equity
shares of the face value of Rs. 10 each. It is
expected that company will have year end net
profit of Rs.: 5,00,000. Due to recessionary
conditions, the company expects 10% return on its
~ investment in future. The equity capitalization
rate is 12%. Find out the market price per share
according to Gordon Model under different
payout ratios of 40%, 60% and 80%.

ABC fafee & g 10 To yfa '@[I]’(é;q\ﬁla;
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7 5407

1,00,000 e siwr 41 ag aen # ot & fs
Tk o N dwh W e @ 5,00,000 Fo
B A @ et ¥ ww st s w3
i wfow & @Ay w g 109 it il
TSRO T 129% 1 40%, 60% 3 80%  frr
ﬁWWﬁﬁﬁéwﬁmﬁmﬁmm
™ 919 e | | | 10
~ Or (31" |

(a) Explain the Modigliani-Miller hypothesis of divi-
~dend irrelevance.

i T @ u‘rﬁﬁmﬁ firer wﬁmm =
Imsnsq g | | 5
(b) The earmngs per share of ABC Ltd. is Rs. 10. The
face value of its equity share is Rs. 100. Its rate of

"‘return on investment is 20%. Capitalization rate
for its risk class is 15%. Using Walter’s dividend

| model fmd out

() The optlmum payout ratio

(i1) The market price per share if the payout
ratio is zero

(iii) The market price at a payout of 60%.

ABC fafide # ufq AW FAE 10 To B | Ik

Efeafe YA W 3ffET g 100 Fo 71 PR ®

aqEt @ & 20% 8| WS WifEw i ®
| P 1L O
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fefiar @ 15% @ | ARl A wEe A s
i

(i) 60% & A T WAL A 1 10

5. Compute the working capital requirements from the
following details:

ﬁnﬁ@ﬁﬁﬁ@ﬁﬁ@ﬁﬁﬁiﬁaﬁmm
T i ST

Budgeted Sales: 30,000 units per annum |

Rs.

Raw Material cost pér unit 8
Direct labour cost per unit 8
Overheads per unit 2
Total cost per unit 18

Profit per unit g
Selling Price per unit | 20

Additional information:
(a) Debtors are allowed 8 weeks credit

(b) Suppliers provide 5 weeks credit .
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(c) Raw material wil] be carried in stock for 4 weeks
and finished goods for 2 weceks

(d) Factory processing will take on an average 3
weeks. |

Assume labour and overhead expenses to accrue
evenly throughout the production cycle.

AR g |
() SR N S T 7 39 oy s |
(if) ¥eTTF 5 e 2 oy 3y ¥
(lll)mm4mﬂmmﬁr@rwﬁaﬁx
- 9UR e 2 e
_(w)aﬂr@mwnaﬁwaﬂwmmﬁé
ﬁwwﬁmaﬁiaﬁaﬁg@#www
7 € 15
‘ Or (@) | |

Write short notes on the following:

(a) Operating cycle method of estimating working
capital requirements

._(b) Economic Ordi_af Quantity

(c) Evaluation of credit policy.

frefafed X Gfgw feauf fafae

(a) FrAviE ot A TR F AH A e
ik - P.T. O.
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(b) U YT ATAT

(¢) T A A | e

S00

Scanned with CamScanner




[This question paper containg 7 printed pages]
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1. (a)

(b)

(@)

Define thc modern concept of marketmg
What is its s1gn1flcance in modern day
scenario ? 5
SMeH T B W H IEH T TEed ¥
Distinguish between marketing and selling
concept. Give suitable examples for the
same. - | _

oM iR Repd e ¥ oft Tamy
EREY i?r!q._‘\sl{gqﬁ_\ﬂw AT |

OR

- STEET

What are the; stages of the product life cycle

(PLC) in t’erfns of the fnarketing Or revenue

| producmg perspective ? - 8

ﬁwﬁammwmmﬁw

T (PLC) # e sveeny ¥ 7

2
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(b)

(b)

7864

Explain the different steps in the process
of new product development. Give suitable
examples. 7

T I H Rt wE # ubEa F fata

What are various levels of a product ?
Explain giving illustrations in Indian
context. 8
I & (= W $9-9 § 7 99 § 929
T IEET BT AT FHIAT |

Describe different bases of segmentation.

- Also write the significance of segmentation

~ process. 7

g & G AR & Hee W aansy |

(a)

OR
HET

Write a short note on Product Positioning.
How would you position a new mobile phone

in market place ? , 8

Clie B30k
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SIE T T HfEr feogen fafe | e &
AT AAEA BF B AT HY @ AT 7
(b) Briefly explain the factors affecting

consumer buying process. 7

I B AT H AT T |

3. (a) In what mahner do the economic and
i .A ' techr{lological factors influence the demand
for é. product or sefvjce ? f 8
e TR A ot olX AR ww
S SreEr daT AT B R w1 ¥

l , ‘(b)" Wﬁte',a short note on oniine marketing of
_- products, such as various websites and

mobile applications. | 7

Scanned with CamScanner



7864

OR

HAYqQn

(a) "Is advertising a social waste" ? Critically
examine the statement. 8
T REI @ W {3 ¥ P g we
W TS S SR
” (b) Wh'at is é.dvertising_ media ? Which are the
- factors to be considered while selecting a

- suitable advertlsmg medla ?

2 ' ﬁmwmw@%%?aqgaaﬁamd
Wgﬂ%wﬁﬁmvﬁaﬁm

%ﬂfmn _
5'4. (a) Explam the dlfferent pncmg strategies
ava.llable_ to marketer. | 8
% R i Suerer Rt S e worf
| o e BT

5t P.T.O.
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(b) Write a note on societal marketing.

7
ot Rrger ot feeelr fafE |
OR
YT
(a) What is relatioriship marketing ? Explaxn
its 1mportance to the marketer., 8

g Rqer F & § 7 ot % R 9%
‘He & e BT

(b) Write a note on various elements of
promotidn mix. £

| _mﬁwﬁa%ﬁfﬁﬁaﬁwﬁwﬁ%@m

5 Write short notes on any three of the following :
| | - 3%5
frfeiae § @ fodt @ o dfera fewRr
(i) Nature of marketing.
(ii) Segmentation
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(iii) Viral marketing
RS forqorsy
(iv) Role of social media in marketing
OO # A a9 E e
(v) Skimming pricing Strategy‘

ﬁ%ﬁwmﬁmﬁwwﬁrﬁ

oA 3600
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. (57 FTTT F P & s B T AR @ 0
HT AFHHIF [rEd |)

NortEe :— Answers may be written either in English or in Hindi;
but the same medium should be used throughout

the paper.

feaqoft : Wwvwwaﬁ'?e;ﬁa?wf?#h@ﬁ#@w
g @fqd; dfeT Tt S #T 9EIT U & &

e |

Attempt all questions. Al_l questions carry equal marks.
Use of Simple calculator is allowed.
Time-value tables will be provided.

aift qo G &1 @ T @ o T &

. 1. What do you understand by the objective of shareholders’

wealth maximization? Why is it considered superior to

- objective of profit maximization?

210,
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SrRuRal & o B SFRTFRANET & TGed W ST

ey Bo SRR B S ¥ 75 b dEw

X 15
Or (W) -

(a) Explain the concept of systematic and unsystematic

risk.

BT | 8

(b) The cost of a new mobile phone is Rs. 10,000. If the

interest rate is 5%, how much would you have to set

aside now to provide this sum in five years?
qq HaEd ®F B AR 10,000 ¥O I R [
5%%a“rtﬁﬁaﬁfa‘$raﬁﬁrﬁwrrf§ra€rmmm
& forq SN FhGAT B ST @A 9S? 7

2. (a) What are the main techniques of capital budgeting?
fofire aeted &l TS Al T &7 7
(b) The management of a cdmpany has two alternative '
“proposals under consideration. Project A requires a
capital outlay of Rs 12,00,000 and project B requires
Rs 18,00,000. Both are estimated to generate cash flows
for five years: Project A Rs. 4,00,000 per year and
Project B Rs. 5,80,000 per year. The cost of capital is

' 10%. Determine which of the two projects should be

selected on the basis of:

7867 )
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(i) net present value method, and

(i) pl‘0ﬁtabilily index method.

In case of conflict which criteria should be followed

and why?
B & ydET & U BER wer & fw o R
T E uRdeE A @ R 1,200,000 Fo F el
TR B MELTHAT & AR TRASHT B 3 frT 18,00,000
To W WO T G A of aul & g dems wam
S B Bl ST & | 74 aREieeT A F 400,000 Bo
gidr o AR 9IRGB & 5,80,000 To Gferers | Toir
AT 10% B | ﬁwﬁrﬁ@aaﬂwws‘—rﬁwﬁaﬁwm
F 5 g =R '
(i) e adam ge faftr ofr
(ii) FTIVEAT gabih fafere
zg o Rafy A fea g & s =ifRe ok
o RO 8
- Or (GTEHT)
ABC Ltd. has a machine which Bas been in operation for 3
years. Its remaining useful life is 8 years with no salvage
value. Its current {narket value is Rs. 2,00,000. The
company is éonsidering a proposal to purchase a new

model of machine to replace the éxisting machine. The

relevant information is given below:
1867 i 3 , P.T.O.
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Existing Machine  New Machine

Cost of machine Rs. 3,30,000 Rs. 10,00,000
| Estimated life 11 years 8 years
Salvage value | ni‘1 Rs. 40,000
Annual output 30000 units 75000 units
Selling price per unit Rs.15 Rs.15
Annual operating hours | 3000 3000
Material cost per unit "Rs. 4 | Rs. 4
Labour cost per hour Rs. 40 , "~ Rs.70
Indirect cash c'os£ pér annum Rs.50000 Rs.65000

The company follo»ws the straight-line method of
depreciation. The corporate tax rate is 30%. ABC Ltd. does
not make any investment if 1t yields less than 12%. Advise
ABC Ltd. whether the existing machine should be replaced
or ndt. Ignore capital gain tax.
ABC fiftee & wE T a9 & 5 3 o & whense &)
ST T ST ST 8 o & AR $aer g Fanet qw
TE ¥ | THH T IR T 200,000 Fo | HTN A
A B et AU diew A e e wwed
¥ W gt A A

1867 | 4
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ArEn A= - 8 Wi

Hefi| &l AT 3,30,000 10,00,000
I Mg 11 a¢ g T
&R T 40,000
EUEEIRC CE | 30000 I 75000 T
feg wma 9iq AT 15 %o 15 %o
e, Wik He 3000 3000
a9 Wi e, 4% 4%0.
9 AR G EeT 40 5o - 70 %o
W Jhs T 9T 9§ 50000 To 65000 To

For rery @ el Yar Rl F SEERe F § | &
T T W 30% 2| ABC Riftide g faer T el el
¥ ofy 9E¥ 12% ¥ &9 Wi e i ABC fafwes @
FarE ST 5 S Ao qeie B SRt S aifey
T & | Yol @ W R W S T AR 15

3. There are two companies ‘L Ltd’ and ‘U Ltd ‘which are
| identical in all respects except in terms of their capital

structure. Following information is available:

L Ltd. U Ltd.

EBIT (Rs.) 100,000 500,000
- 12% debentures (Rs.) 500,000 NIL
16%

Equity capitalization rate ~ 20%
Calculate the values of two firms and illustrate using MM
approach how an investor holding 10% shares of L Ltd

will be benefitted by switching over his investment from L

Ltd. to U Ltd.
P.T.O.
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L%ﬁgﬁ?u%ﬁ%a}mﬁ%ﬁmgﬁzﬂ%‘
e & dqw S ol T A ¥ R
GRIMSERC I
LR U R
EBIT (%o) 100,000 500,000
12% f2d=aX (o) 500,000 )}
faaer oftar &t 20% 16%
& Gt & g 1 qReET BT ST MM ST T 93m
@ Ty 6 R @R L ffes & 10% A @
are Fraees L Rifres & ormr faer U fafies o o 5 3

A I T | - 3
| Or (rea)
The capital structure of XYZ Ltd. is as under:
9% Debentures (Rs. 100) ~ Rs. 2,75,000
11% Preference shares (Rs. 100) Rs. 2,25,000

- Equity shares (face value Rs. 10 per Rs. 5,00,000
share) ‘
Additional -informat'ion':
Debentures are redeemable at par after 10 years and
have 20% floatation cost. The market price per
debenture is Rs. 105.
(i) Preference shares are redeemable at par after 10
years and have 30% floatation cost. The marke!

price per preference share is Rs.100.

7867 - 6

|
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(ii) Equity share has Rs. 4 floatation cost and market
price per share of Rs. 24. The next year expected
dividend is Rs. 2 per share with annual growth of
5%. The firm has a practice of paying all earnings
in the form of dividends.

(iii) Corporate income tax rate is 35%.

Calculate weighted average cost of capital using (i) book

value weights (ii) market value weights.

XYZ ffRe & Gl GtEer 59 TR

90% f2a==R (100 To dm) 275 000 o

11% AREE 99X (100 o )  2,75,000 To

R R 50,000

(10*6031%9%%&?@@7%?@) '
stfaRaa gEamd—

(ﬁ%ﬁﬂwmmmmwgﬁmﬁmm
- 3R THE AT A 20% © | i SR AR el
105 To 1

() ftmE Sl @ ufee 10 af R g W
R ST SfR wae @ 3% e | Ui ST
$fR AR 4o 106 To B |

(i) et S A T A 4 Bo ¥ IR AR S

AR T 24 60 & | ST a9 T AT 5%
'mﬁmq@%m&zﬁogﬁfwaﬁﬁmn%u
oif ol et smwedl Bl @rTien @ T A @l
war F@ml & |

(@) FT o H W K 35%

867 | 5 7 P.T.O.
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|

ot et anRa oy wrer @ (i) GEER G A, (if) @ |
e W, T VT qftaesT @i | o |

N

4. (a) Explain Gordon's dividend model. What are itg

shortcomings?
ridy ST HEE e Wi | gl CALEINe
87 7
(b) The earning per share of a company is Rs. 20. The
face value of the share is Rs. 100. The rate of return
for the company is 25% and capitalization rate of risk
class is 12.5%. If Walter’s model is used:
(i) What should be the optimum payout ratio?
(i) What should be the market price per share at
optimum payout ratio? |
(iii) If company has a D/P rﬁtio of 25%, what would be

the price per share?
wE FOT 9 uh U S 20 o B O T SAfehd
T 100 Fo ¥ | A & RIY IRIER Bl & 25% © &R
RRET A TR W 12.5% ¢ | Al AR Aisw W
ydnT foRar AT © A
(i) S=aT e SIFUN F S e’
(i) T=LAT ST S T i QI TR e F

g =few?
diyafs FAe & D/P ST 25% © @ W AW
e T BI? 8
7867 ' 8
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Or (3raan)
(a) What is a stable dividend policy? Why should it be
followed?

T wes ey @ S ¥e g s @6 we
e ? 7
(b) A company has a total investment of Rs. 500,000 in
assets and 50000 outstanding ordinary shares ofRs10
each. It earns a rate of 15% on its investment and has a
policy of retaining 50% of the earnings. If the
appropriate discount rate of the firm is 10%, determine
the price of its sharé using Gordon’s model.
uF FUN G Ay aRawRE § 5,00,000 Fo T
3R 10 o AR 50,000 THAT SR # & | T8 AT W
15% & T & A F & R Iah SRR
50% gfremer Hfq &1 afd o @ SugE 92 R
10% T ) T Hisa B TGN Fh SHA T A

e @ Ffr B s
5. (a) The following information is given to you: |
Péribd covered 360 days
Average period allowed by suppliers 30 days
Average credit period allowed to debtors 45 days
Raw material consumed Rs. 6,00,000

Rs. 5,00,000
Rs. 30,000
Rs. 30,000

Average stock of raw material
Annual work in progress inventory
Average work in progress inventory

T = o P.T.0.
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Annual finished goods inventory Rs. 8,00,00

Average finished goods stock held  Rs. 40,00
Total cost of sales ~ Rs. 8,40,00(
Compute:
(i) Net operating cycle period
(ii) The number of operating cycles in a year
(iii) The amount of working capital.
s P gt & T §
3T 360 fa7
TR & Wi S rafer 30 fe
IRt E Wda Sha hise ST 45 feq
e "I &l GId 6,00,000 Fo
50,000 To
aiftfep f A T W 5,00,000 %o
ol & Tl W 30,000 %o
i qUR AT 8,00,000 o
sirad AR A w R 40,000 0
fesht &l o AT 8,40,000 To
- SR BT

(i) ﬁaaﬂ%mazﬁami%r
(i) % a9 ¥ wihar @i Bl GEAT
(i) e o @ Tl 3

(b) What do you mean by ‘economic order quantity’? What

are the assumptions underlying basic EOQ model?
7867 . 10
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SR SMRYT W @ ST AT WA 67 SN EOQ
s & Y aiftnre & €7 7

Or (GWF-H)
(a) The following are the details regarding the operation

of a firm during a period of 12 months:

Sales Rs 12 lakhs
Selling price per unit Rs.10
Variable cost per unit Rs. 7
Total cost per unit | Rs. 9
. Credit period allowed to customers one month

The firm is considering a proposal for a more liberal
extension of credit which will result in increasing the

- avérage collection period from one month to two
months. The relaxation is expected to increase the sales

" by 25% from its existing level. Advise the firm

regarding adoption of new credit policy assuming firm’s

required rate of return on investment is 25%.

‘12m3a%mfﬁ%ammﬁa%aﬁmaﬁﬁma

qwd e g
- fgmr | 12 9@ %o
fera @ma Wi gfe 10 B0

,qﬁaﬁmqﬁrqﬁ: 7 Fo
ajaaﬂmaﬁrqﬁrz ' 9 To
e @Y & TE hige smEfH 1 WIS

7867 | 114 P.T.O.
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R R T B Rl AR G S g 1
& < we @ S ¥ Rawa fred @ su dgn
Rl A 25% TG A A B 1w T A |
qﬁﬁlﬁaﬁmﬁ%ﬁﬁw@éﬁqaﬁ?%mm?
o5 B i @ PR W aRwed @ aia @ sy
I | 10

(b) Differentiate between permanent working capital and

!
temporary working capital. |

wly s GO ot erardy wfshia GOt 7 e |
I | . | | : |
7867 _ A T 12 5700
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g farERtiel & fiTa T STARER! Sugy,
B T WY W HA A WeHd € ? oy
ik Iuwiermel @ gfte A faEmaT & gy
TGl el AT AT HITT |

(h) What are the various types of Advertising
Objectives followed by Advertisers ? Explain

with suitable examples. 7
 fREsrgaEareTl ERT 3199 STM arer [Af= "
% FETIAT @1 Igavd @ & 7 IUgER Iare L
' IHY AT HiY |
OR
SHEAT
(a) Attempt any two of the following :

fr=ifeiiaa § @ sl & &I Hifsig -
(i) DAGMAR approach
DAGMAR 349ri™H
(i1) National V/s Local Advertising
U A e e

(iii) Primary demand V/s Selective demand
Advertising

ARY

{iiN L




(b)

906

"The major recurrent decision facing a firm
is how much to spend on Advertising" Do
you agree ? Explain the common methods
used for setting the Advertising Budget.

7

“mﬁ%wﬁqgaamﬁﬁvhaa%%ﬁ

.ﬁamwﬁﬁm@a‘ﬁsmml”mam

. (a)

G@H%‘_?ﬁammaﬁmmﬁ%ﬁm

g T RRE ) e SR

What are the various factors taken into
consideration while selecting an
appropriate Advertising medium ? Explain
with examples. 8

T A QAT TIRT ? IS ST e

- i

(b)

"Internet has emerged as a medium of the
millennium for Advertising". Elaborate the

- statement highlighting the importance of

Internet as a medium of Advertising, 1

- “geAE, s B R aeere & ey 8

T H IHT B 9w B oAem § wg B
FEIT % HEe H R B 5T TH e

"..Eﬁrml

3 2L
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(a) Discuss the advantages of television as a:
advertising medium for automebile and f2st
moving consumer goods industries. 8
aﬁaﬁa@aﬁ-(aﬂﬂf?fﬁﬁzﬁﬁr areil STATERT
awgetl & JugET & e ATt & gt F
forreT e |

(b) Write a detailed note on Media Scheduling,
7

mmeﬁqﬁnﬂﬁwﬁﬁﬁmﬁ%ﬁmn

3. (a) Which type of Advertising appeal do you
think would be appropriate for advertising
the following product ? Give reasons. |

8 |

e e @ Fasmae ordier = e e

Seqrel Sy Fsnid w @ e IugE e 7

o7 EIT | -
(i) Designer Jewellery
ESIFRSERS!

(ii) Life Insurance Policies

e < atferREn

4
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(iii) Fertilizers
REECS
(iv) Health Food
ey Tl STER
(b) What are the various eclements of a print
copy ? What role do they play in increasing
the effectiveness of copy ? 7
fﬁiﬁ{ﬁ%ﬁmﬂaﬂﬁ?—ﬁ%?ﬁﬂﬁﬁﬁ
qeTar @ SeT H g T ArTEr e & 7
OR
HECT
(a) Explain the various types of appeals used

in advertisements. Support them with
suitable examples.

8
e # sge ffte S W StdrT
ST T | SUFER IEEON Bl AT T
el It |

(b) What do you understand by Advertising
Copy ? Describe the essentials of a good

Advertising copy. 7

W%\ﬁ'ﬁamww—aﬁ%?aﬁz&
Wﬁiﬁr%aﬁﬁrﬁaﬁﬁzﬁraﬂﬁaﬁmi

5 P.T.O.
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4. (a) Explain the various pre-testing technique,
used to measure the l’\dvertising

effectiveness. 8

fsmas @ wREr @ A & R g
Rftrr e glteror GebileRl W R Hife

(b) Why is it important to measure Advertising

effectiveness ? 7
fersTg=T b gwIfaeT =Bt HTa=T EPﬁ qe@gol B
e ?
OR
HECT

(a) Discuss various post-testing techniques of

measuring Advertising effectiveness. 8

ferstTa= =t giferar & A9 = fafy= gdErT
qehitept ! e T |
(b) Why do some advertisers do not measure

Advertising effectiveness ? 7

T HRT T 5 e Reamemn e @
gqma,ﬁ-q—é}uq—]—qa-n?

]
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S. (a) "Advertising is adversely affecting our social
and cultural values". Do you agree with this
View point ? Explain in the light of some of
the advertisements having such
repercussions. 8

(b) What is a full-service Advertising agency ?
- What are the functions performed by such
agencies ? 7

oA RS o R A B 7 ot e
[T wEt @ Frores e ¥ 2

OR
HETT

Write notes on any three of the following :
o 15

e & & Rl i o Rl Rk -
(i) Advertising Standards Council of India
(AsCI) |
XA I a9 A 9fyg (ASCI)

7 [Ebthe O &
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(iv) §e F437:;:“1 Adver t1smg Agency

3
!

8 4000
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